0n " Nora D 320x320+VD 44 " G0152

o
o

h a n S a 24 :\—) Drawing/Zeichnung 3 D Format A3

" vV

Profile/Profil 44)(135 Scale/MaRstab 130 Date 24072022




H=1790 m
TOTAL: 16.51 m2

foo, 3269(1)2 100
bk 3200 bh
) 3000 ,
K 1
90 s
T a ’7 r S T _ ‘k&.ﬁ ~
| :.::::::::::::::::
| | I
[l [
| | [
I I
| | [
o - I I -
g g | . g
I I
| | [
I I
| | [
I I
(: — [l [
| I | I |
@} 28 3] 1 ‘ | ‘ 3 2
s | Wiz | <
= | R
> g8% @3‘ 8.48 m2 |
(2 g
\ R &
\i o
| |/ X2 2
| e
G || & g 3£
js’iL,iiig,@}Lii,J =
) 30, 30, :
100 i 2912 “'4100
0o Name Nora D 320x320+VD 44 60152
i..] a l.i Sa 24::_:) Drawing/Zeichnung P|aﬂ_Grundp|an FormatA4
. Proﬁ\e/Peri'\4X13‘5 Scale/MaBstabl:SO Date15‘o4'2023




2910
2840
2328
1746
- 1164
Lo 7 AT2 \

i AT2
Sg%
o

00 I Nora D 320x320+VD 44 60152
h a n Sa 24? Drawing/Ze'\chnuﬂFoundation p|an_Lagerho|Zp|an FormatA4
' Pro{i‘e/PrZIi"4x13_5 Scale/MaBstabl:SO Date15.o4'2023




Pos Model Pes Profile |Length
Nora D 320x320+VD &4 (mm) (mm)
Notice! The gable pieces can be partly pre-assembled!
Please nofice - fhase differ from the description given in the specification list
Achtung! Die Giebelbohlen konnen feilweise schon vormonfiert sein!
Bitfe beachten - diese erscheinen nichf ganz so wie in der Teileliste Beschrieben
004 I S gy e los/Ereatziete 1| 6ex135 | 3200
001 i — Sl 2| 44x135 | 3200
002 [ — — 1] L4135 | 3200
003 2 e 2 1| 4hx68 | 3200
004 st o 5 12| &4x135 | 3200
005 o — il 1] L4x135 | 3200
006 hit e Sl 30 | 44x135 | 3200
007 & - — 1] L4x135 | 3200
008 | ¢ Oy — - 1] L4x135 | 3178
009 | § o5 St B 1| L4x135 | 3178
010 (o — J%O 1] L4135 | 3154
011 o o ) 1| L4x135 | 3054
02 | 3 g — S 1] L4x135 | 3022
03 | [ q o >, 1] L4x135 | 3022
014 o e o 1| Lhx135 | 2966
015 I = ¥ 1| wex135 | 2866
016 — —_ 2| 44x135 | 2668
017 .o — 1| Lhx135 | 2668
018 o e 1| L4x135 | 1363
019 o 128 1] LLx135 | 1363
020 o 1218 2 | Lhx135 | 1363
021 o 1z 1| huxes | 1363
022 —— 3| w4x135 | 782
023 — 3| 44x135 | 605
024 il 1| 44x135 | 353
025 o 23| L4x135 | 352
Kood  Nora D 320x320+VD 4 Materjal File Leht 176



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Nora D 320x320+VD 44

AutoCAD SHX Text
1/6

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Nora D 320x320+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
001

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
002

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
003

AutoCAD SHX Text
1

AutoCAD SHX Text
44x68

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
004

AutoCAD SHX Text
12

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
005

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
006

AutoCAD SHX Text
30

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
007

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
008

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3178

AutoCAD SHX Text
200

AutoCAD SHX Text
2912

AutoCAD SHX Text
009

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3178

AutoCAD SHX Text
200

AutoCAD SHX Text
2912

AutoCAD SHX Text
010

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3154

AutoCAD SHX Text
210

AutoCAD SHX Text
2756

AutoCAD SHX Text
100

AutoCAD SHX Text
011

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3054

AutoCAD SHX Text
110

AutoCAD SHX Text
2756

AutoCAD SHX Text
100

AutoCAD SHX Text
012

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3022

AutoCAD SHX Text
2756

AutoCAD SHX Text
200

AutoCAD SHX Text
013

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3022

AutoCAD SHX Text
2756

AutoCAD SHX Text
200

AutoCAD SHX Text
014

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
2966

AutoCAD SHX Text
100

AutoCAD SHX Text
2822

AutoCAD SHX Text
015

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
2866

AutoCAD SHX Text
100

AutoCAD SHX Text
2722

AutoCAD SHX Text
016

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
2668

AutoCAD SHX Text
2524

AutoCAD SHX Text
100

AutoCAD SHX Text
017

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
2668

AutoCAD SHX Text
2524

AutoCAD SHX Text
100

AutoCAD SHX Text
018

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
1363

AutoCAD SHX Text
100

AutoCAD SHX Text
1218

AutoCAD SHX Text
019

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
1363

AutoCAD SHX Text
100

AutoCAD SHX Text
1218

AutoCAD SHX Text
020

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
1363

AutoCAD SHX Text
100

AutoCAD SHX Text
1218

AutoCAD SHX Text
021

AutoCAD SHX Text
1

AutoCAD SHX Text
44x68

AutoCAD SHX Text
1363

AutoCAD SHX Text
100

AutoCAD SHX Text
1218

AutoCAD SHX Text
022

AutoCAD SHX Text
3

AutoCAD SHX Text
44x135

AutoCAD SHX Text
782

AutoCAD SHX Text
023

AutoCAD SHX Text
3

AutoCAD SHX Text
44x135

AutoCAD SHX Text
605

AutoCAD SHX Text
024

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
353

AutoCAD SHX Text
209

AutoCAD SHX Text
100

AutoCAD SHX Text
025

AutoCAD SHX Text
23

AutoCAD SHX Text
44x135

AutoCAD SHX Text
352

AutoCAD SHX Text
100

AutoCAD SHX Text
208

AutoCAD SHX Text
004

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
spare log/Ersatzteile

AutoCAD SHX Text
Notice! The gable pieces can be partly pre-assembled!  Please notice - those differ from the description given in the specification list.

AutoCAD SHX Text
Achtung! Die Giebelbohlen können teilweise schon vormontiert sein! Bitte beachten - diese erscheinen nicht ganz so wie in der Teileliste beschrieben.


Pos Model Pre Profile |Lengfh
Nora D 320x320+VD L4 (mm) | (mm)
026 oY 1] 4ix68 | 353
027 aan 8 | L4x135 | 300
028 7 2 | LLx135 | 300
FOUNDATION BEAMS (impregnated) - FUNDAMENTHGLZER (impragniert)
AT ‘ 2 | 70x45 | 2980
FOUNDATION BEAMS (\mpregﬂafed] - FUNDAMENTHGLZER (\mpragmerﬂ
AT? ‘ 6 | 70x45 | 28L0
FOUNDATION BEAMS (impregnated) - FUNDAMENTHGLZER (impragniert)
AT3 1| 70xk5 | 1658
PURLINS - PFETTEN
200 2912 500
PR & 1 2 | 70x145 | 3700
PURLINS - PFETTEN
PRG T — ) 1] T0x145 | 3544
PURLINS - PFETTEN
PR3 - sl — 1| 70x145 | 2856
PURL - PFETTEN
PR? — 2ot u%j 2 | 70x145 | 2700
ROGF BOARDS - DACHBRETTER T 7777778 b5+ 113x18 | 2360
ROOF BOARDS - DACHBRETTER 777777778 | 55| 11318 | 1307
FLOOR BOARDS - FUSSBODENBRETTER 277777778 6+1 113x18 | 2907
- | | L6
Ceiling mouldings - Deckenleisfen é 15%28 | /Lem
13
Floor mouldings - Fussbodenleisten VA 18x60 | e
R-A | Eave board - Traufenbrett 18x95 7777772 | L 18x95 | 3100
34
RLIOT-1| Eave slat - Traufenleiste 18xL0 V) 18x40 | e
YA | Gable board - Giebelbrett 18x120 127° ¢ 21 2 | 18x120 | 1407
055 | Gable board - Giebelbrett 18x120 99° 7 21 2 | 183120 | 2460
UKL | Gable cover slat - Giebeldeckleiste 18x40 72 | 2 | 18xeo | 1407
JEL | Gable cover slat - Giebeldeckleiste 18x40 A | 2 | 18xk0 | 2460
TPY0-1] Supporf post - Stutzpfoste 90x90 v = 6 | 1 90x90 1890
P91 g t - Stitzpfoste 90x90 v 90x90 | 1958
0-2 upporft post - Stutzpfoste 90x90 v = A6 | ] X
Kacd  Nora B 320x320+VD 4L Mater jal File Leht  2/6



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Nora D 320x320+VD 44

AutoCAD SHX Text
2/6

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Nora D 320x320+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
026

AutoCAD SHX Text
1

AutoCAD SHX Text
44x68

AutoCAD SHX Text
353

AutoCAD SHX Text
209

AutoCAD SHX Text
100

AutoCAD SHX Text
027

AutoCAD SHX Text
8

AutoCAD SHX Text
44x135

AutoCAD SHX Text
300

AutoCAD SHX Text
028

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
300

AutoCAD SHX Text
AT1

AutoCAD SHX Text
2

AutoCAD SHX Text
70x45

AutoCAD SHX Text
2980

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
AT2

AutoCAD SHX Text
6

AutoCAD SHX Text
70x45

AutoCAD SHX Text
2840

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
AT3

AutoCAD SHX Text
1

AutoCAD SHX Text
70x45

AutoCAD SHX Text
1658

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
PR1

AutoCAD SHX Text
2

AutoCAD SHX Text
70x145

AutoCAD SHX Text
3700

AutoCAD SHX Text
PURLINS - PFETTEN

AutoCAD SHX Text
200

AutoCAD SHX Text
2912

AutoCAD SHX Text
500

AutoCAD SHX Text
PR4

AutoCAD SHX Text
1

AutoCAD SHX Text
70x145

AutoCAD SHX Text
3544

AutoCAD SHX Text
PURLINS - PFETTEN

AutoCAD SHX Text
500

AutoCAD SHX Text
2756

AutoCAD SHX Text
200

AutoCAD SHX Text
PR3

AutoCAD SHX Text
1

AutoCAD SHX Text
70x145

AutoCAD SHX Text
2856

AutoCAD SHX Text
PURLINS - PFETTEN

AutoCAD SHX Text
200

AutoCAD SHX Text
2612

AutoCAD SHX Text
PR2

AutoCAD SHX Text
2

AutoCAD SHX Text
70x145

AutoCAD SHX Text
2700

AutoCAD SHX Text
PURLINS - PFETTEN

AutoCAD SHX Text
2456

AutoCAD SHX Text
200

AutoCAD SHX Text
ROOF BOARDS - DACHBRETTER

AutoCAD SHX Text
55+2

AutoCAD SHX Text
113x18

AutoCAD SHX Text
2360

AutoCAD SHX Text
ROOF BOARDS - DACHBRETTER

AutoCAD SHX Text
55

AutoCAD SHX Text
113x18

AutoCAD SHX Text
1307

AutoCAD SHX Text
FLOOR BOARDS - FUSSBODENBRETTER

AutoCAD SHX Text
26+1

AutoCAD SHX Text
113x18

AutoCAD SHX Text
2907

AutoCAD SHX Text
Ceiling mouldings - Deckenleisten

AutoCAD SHX Text
15x28

AutoCAD SHX Text
46

AutoCAD SHX Text
Floor mouldings - Fussbodenleisten

AutoCAD SHX Text
18x40

AutoCAD SHX Text
13

AutoCAD SHX Text
Eave board - Traufenbrett 18x95

AutoCAD SHX Text
4

AutoCAD SHX Text
18x95

AutoCAD SHX Text
3100

AutoCAD SHX Text
RLA

AutoCAD SHX Text
01-1

AutoCAD SHX Text
Eave slat - Traufenleiste 18x40

AutoCAD SHX Text
18x40

AutoCAD SHX Text
13.4

AutoCAD SHX Text
RLI01-1

AutoCAD SHX Text
Gable board - Giebelbrett 18x120

AutoCAD SHX Text
2

AutoCAD SHX Text
18x120

AutoCAD SHX Text
1407

AutoCAD SHX Text
VLA

AutoCAD SHX Text
02-1

AutoCAD SHX Text
Gable board - Giebelbrett 18x120

AutoCAD SHX Text
2

AutoCAD SHX Text
18x120

AutoCAD SHX Text
2460

AutoCAD SHX Text
VLA

AutoCAD SHX Text
02-2

AutoCAD SHX Text
Gable cover slat - Giebeldeckleiste 18x40

AutoCAD SHX Text
2

AutoCAD SHX Text
18x40

AutoCAD SHX Text
1407

AutoCAD SHX Text
VKL

AutoCAD SHX Text
01-1

AutoCAD SHX Text
Gable cover slat - Giebeldeckleiste 18x40

AutoCAD SHX Text
2

AutoCAD SHX Text
18x40

AutoCAD SHX Text
2460

AutoCAD SHX Text
VKL

AutoCAD SHX Text
01-2

AutoCAD SHX Text
Support post - Stützpfoste 90x90 v1

AutoCAD SHX Text
1

AutoCAD SHX Text
90x90

AutoCAD SHX Text
1890

AutoCAD SHX Text
TP90-1

AutoCAD SHX Text
Support post - Stützpfoste 90x90 v1

AutoCAD SHX Text
1

AutoCAD SHX Text
90x90

AutoCAD SHX Text
1958

AutoCAD SHX Text
TP9

AutoCAD SHX Text
0-2

AutoCAD SHX Text
9.9%%d

AutoCAD SHX Text
12.7%%d

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
rm/lfm


Pos Model pee| Profile Length
Nora D 370x3720+VD L4 (mm) (mm)
UV1 | Metal bar - Metallstange 10 Q ) | 1 10 1040
UVv2 | Metal bar - Metallstange 10 a ) |1 10 900
UV3 | Metal bar - Metallstange 10 a ) | 6 10 360
PJO1 | Adjustable past support - Verstellbare Pfostenstutze M16 ﬁ 7
MLOT | Connecting sfrip for wall logs - VerBindugsstreifen fur Wandbalken 7
GDOT | Diamond - Diamant <> 7
LK Hif blaock - Schlagholzer {i 3
N2 | Nails - Nagel 2560 for floor boards - fir Fussbodenbretter ————{ [312
N-0 | Nails - Nagel vierkant 2.5x50 for ceiling boards - fur
2501 | Dachbretter = | 660
g%@? Screws - Schrauben 3.0x30  for ceiling mouldings - fur Deckenleisten  wowmmmw(] | 66
égég Screws - Schrauben 3.0x30  for eave slafs - fur Traufenleisten < | 28
KR-0 | Screws - Schrauben 3.0x30  for floor mouldings - fur
3003 | Fussbodenleisten 1] 24
KR-0 | Screws - Schrauben 3.5x45 (3 for connecfing strip for wall logs 1
3527 | ~ fur Verbindugsstreifen fur Wandbalken ’
R0 | Screws - Schrauben 3.5x45 €3 for diamonds - fUr Diamanten  <ssssseq | ¢
KR-0 | Screws - Schrauben 3.5x45 (3 for eave Baards - fUr
3525 | Traufenbrefter e | 28
KR-0 | Screws - Schrauben 3.5x45 (3 for gaable boards - fur
3527 | Giebelbretfter s | 20
KR-0 | Screws - Schrauben 3.5x45 (3 for gable cover slafs - fur
3521 | Giebeldeckleisten 4120
KR-0 | Screws - Schrauben 5.0x100 for foundation beams - Q} 36
5080 | fur Fundamentholzer
KR-0 | Screws - Schrauben 5.0x70 (3 for support posfs - fur Q} 20
5034 | Stutzpfosten
KL1 | Threaded rod - Gewindesfange M8 QDD | L 2000
KLZ Threaded rad - Gewindesftange M8 DD | 2 405
KL3 | Threaded rod - Gewindesftange M8 QLMD | 2 325
Kacd  Nora B 320x320+VD 4L Mater jal File Leht  3/6



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Nora D 320x320+VD 44

AutoCAD SHX Text
3/6

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Nora D 320x320+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Metal bar - Metallstange ¨10

AutoCAD SHX Text
1

AutoCAD SHX Text
¨10

AutoCAD SHX Text
1040

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
Metal bar - Metallstange ¨10

AutoCAD SHX Text
1

AutoCAD SHX Text
¨10

AutoCAD SHX Text
900

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
Metal bar - Metallstange ¨10

AutoCAD SHX Text
6

AutoCAD SHX Text
¨10

AutoCAD SHX Text
360

AutoCAD SHX Text
ÜV3

AutoCAD SHX Text
PJ01

AutoCAD SHX Text
Adjustable post support - Verstellbare Pfostenstütze M16

AutoCAD SHX Text
2

AutoCAD SHX Text
ML01

AutoCAD SHX Text
Connecting strip for wall logs - Verbindugsstreifen für Wandbalken

AutoCAD SHX Text
2

AutoCAD SHX Text
GD01

AutoCAD SHX Text
Diamond - Diamant

AutoCAD SHX Text
2

AutoCAD SHX Text
LK

AutoCAD SHX Text
Hit block - Schlaghölzer

AutoCAD SHX Text
3

AutoCAD SHX Text
N-0

AutoCAD SHX Text
2503

AutoCAD SHX Text
Nails - Nägel 2.5x60   for floor boards - für Fussbodenbretter

AutoCAD SHX Text
312

AutoCAD SHX Text
N-0

AutoCAD SHX Text
2501

AutoCAD SHX Text
Nails - Nägel vierkant 2.5x50   for ceiling boards - für

AutoCAD SHX Text
Dachbretter

AutoCAD SHX Text
660

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3001

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for ceiling mouldings - für Deckenleisten

AutoCAD SHX Text
66

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3002

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for eave slats - für Traufenleisten

AutoCAD SHX Text
28

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3003

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for floor mouldings - für

AutoCAD SHX Text
Fussbodenleisten

AutoCAD SHX Text
24

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3522

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for connecting strip for wall logs

AutoCAD SHX Text
- für Verbindugsstreifen für Wandbalken

AutoCAD SHX Text
8

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3523

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for diamonds - für Diamanten

AutoCAD SHX Text
4

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3525

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for eave boards - für

AutoCAD SHX Text
Traufenbretter

AutoCAD SHX Text
28

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3527

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for gable boards - für

AutoCAD SHX Text
Giebelbretter

AutoCAD SHX Text
20

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3521

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for gable cover slats - für

AutoCAD SHX Text
Giebeldeckleisten

AutoCAD SHX Text
20

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5080

AutoCAD SHX Text
Screws - Schrauben 5.0x100   for foundation beams -

AutoCAD SHX Text
für Fundamenthölzer

AutoCAD SHX Text
36

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5034

AutoCAD SHX Text
Screws - Schrauben 5.0x70 C3   for support posts - für

AutoCAD SHX Text
Stützpfosten

AutoCAD SHX Text
20

AutoCAD SHX Text
KL1

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
4

AutoCAD SHX Text
2000

AutoCAD SHX Text
KL2

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
2

AutoCAD SHX Text
405

AutoCAD SHX Text
KL3

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
2

AutoCAD SHX Text
325


L th
Poe Model Pes Profile eng

Nora D 320x320+VD L4 (mm) (mm)
KLL | Threaded rod - Gewindestange M8 MMM | 2 270
KL5 | Threaded rod - Gewindestange M3 QO | 2 190

Threaded rad for purlins - Gewindesftange fur die

KLO3-T) pterten M12

MO3 | Nuf for purlins - Mutter fur die Pfetten M12 12

SE37 | Washer for purlins - Scheibe fur die Pfeffen M12x37 17

Nut - Muffter M8

Washer - Scheibe M8x24

Extended nut - Langmutfer M8

Drive-in nuf - Einschlagmuffer M8

)
= ‘@@@\-@!

Kood Nora D 320x320+VD LL Mafer jal File Leht L/6



AutoCAD SHX Text
Threaded rod for purlins - Gewindestange für die

AutoCAD SHX Text
Pfetten M12

AutoCAD SHX Text
6

AutoCAD SHX Text
150

AutoCAD SHX Text
KL03-1

AutoCAD SHX Text
M03

AutoCAD SHX Text
Nut for purlins - Mutter für die Pfetten M12

AutoCAD SHX Text
12

AutoCAD SHX Text
SE32

AutoCAD SHX Text
Washer for purlins - Scheibe für die Pfetten M12x37

AutoCAD SHX Text
12

AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Nora D 320x320+VD 44

AutoCAD SHX Text
4/6

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Nora D 320x320+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
KL4

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
2

AutoCAD SHX Text
270

AutoCAD SHX Text
KL5

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
2

AutoCAD SHX Text
190

AutoCAD SHX Text
Nut - Mutter M8

AutoCAD SHX Text
8

AutoCAD SHX Text
Washer - Scheibe M8x24

AutoCAD SHX Text
8

AutoCAD SHX Text
Extended nut - Langmutter M8

AutoCAD SHX Text
4

AutoCAD SHX Text
Drive-in nut - Einschlagmutter M8

AutoCAD SHX Text
8


Poe Model Pee Profile |Lengfh
Nora D 320x320+VD LL (mm) (mm)

WINDOW 690x1470
W5-SLLP-0XT-06901470

690
| W119-PT
)
A Right handed - DIN rechts
//\ Tempered glass - Gehartetes Glas
o 7 Opens inside - Offnet innen
= WNy
A
\
N
/ N
VI | Rain deflector - Regenabweiser § 1] 36x136 | 890
KR-0 | Screws - Schrauben 35x45 (3 for door and window trims - fur
352k | Tir- und Fensterleisten {2
KR-0 | Screws - Schrauben 4.0x60 (3 for rain deflector - fur ﬂ 3
L00T | Regenabweiser

Kood Nora D 320x320+VD LL Mafer jal File Leht 5/6



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Nora D 320x320+VD 44

AutoCAD SHX Text
5/6

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Nora D 320x320+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
WINDOW 690x1470

AutoCAD SHX Text
 W5-S44P-0XT-06901470

AutoCAD SHX Text
1

AutoCAD SHX Text
Rain deflector - Regenabweiser

AutoCAD SHX Text
1

AutoCAD SHX Text
36x134

AutoCAD SHX Text
890

AutoCAD SHX Text
VIHM

AutoCAD SHX Text
01-1

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
24

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
4001

AutoCAD SHX Text
Screws - Schrauben 4.0x60 C3   for rain deflector - für

AutoCAD SHX Text
Regenabweiser

AutoCAD SHX Text
3


Model Profile |Lengfh

Fos Nora D 320x320+VD 4o S ) | ()
DOOR 1465x1975 1
D5-D4LR-TXT 14651975
1465
1 D204-RT
Right handed - DIN rechts
Tempered glass - Gehartetes Glas
Opens outside - Offnet aussen
CA e
‘ LT
UIHEET Rain deflector - Regenabweiser § 1| 36x136 | 1665
KR-0 | Screws - Schrauben 35x45 (3 for door and window frims - fur (| 28
3524 | Tur- und Fensterleisten
KR-0 | Screws - Schrauben 4.0x60 (3 for rain deflector - fur ﬂ L
L00T | Regenabweiser

Kood Nora D 320x320+VD LL Mafer jal File Leht  6/6



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Nora D 320x320+VD 44

AutoCAD SHX Text
6/6

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Nora D 320x320+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
DOOR 1465x1975

AutoCAD SHX Text
 D5-D44R-7XT-14651975

AutoCAD SHX Text
1

AutoCAD SHX Text
Rain deflector - Regenabweiser

AutoCAD SHX Text
1

AutoCAD SHX Text
36x134

AutoCAD SHX Text
1665

AutoCAD SHX Text
VIHM

AutoCAD SHX Text
01-2

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
28

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
4001

AutoCAD SHX Text
Screws - Schrauben 4.0x60 C3   for rain deflector - für

AutoCAD SHX Text
Regenabweiser

AutoCAD SHX Text
4


Gable cover boards

Giebeldeckleisten
Roof boards
Bachbretter
Gable boards
Giebelbretter

Roof beams 6200
Dachbalken 1200 200|
o 0 KL & n
N 109 T H o T
T S ESE | LT om0
L H =L HI 005
L H Hol 004
L H Hol 004
L H Ho| 004
L H H | 004
ml H ook g
L1 H| 004 S
L H H| 004
L H H| 004
L H Ho| 004
L H Hol 004
L H Hol 004
L H Ho| 004
wall/Wand A ~ 003 L
il 2912 il
100 Lk L4 100
| 2956 | 2800 |
® @ O
3200
Wall Logs
Wandbohlen
Floor Mauldings
Fussbadenleiste
Floor Boards N SKU
Fussbodenbretter Q = ame NOFa D 320X320+VD 44 60152
Foundaficn Beams U . .
Fundamenfhilzer l.] ansa 24 Q Drawing/Zeichnung Wa”/Wand A Format A4
b Profile/Profil 4 4X13 5 Scale/MalRstab 150 Date 15 04 2023



AutoCAD SHX Text
Wall/Wand  A

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
003

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
005

AutoCAD SHX Text
009

AutoCAD SHX Text
010

AutoCAD SHX Text
012

AutoCAD SHX Text
015

AutoCAD SHX Text
KL4

AutoCAD SHX Text
ÜV3

AutoCAD SHX Text
ÜV3

AutoCAD SHX Text
ÜV3


6200

200 200
1200 KL ]
LA 11008 7 H o3 ]
T I | T on
LH 1025 027 TP 02% H
LH 025 027 [ H025
LH 1025 027 [ H025
LH 1025 027 | n|025
L H | 0255 L 027 | n| 025
L H | 0232 L] 028 | n| 025 @
LH 025 ] 028 Q L H 025 N
LH 025 | 027 < |l H 025
H 025 S 027 T H o025
LH 025 ] o027 |l n| 025
L 018 |l n|025
L H 019 | n]025
L H 020 | n|025
L H 020 | nl 025
Wall/Wand B 7 021 026 L
[|209] 710 | 300 | 1485 [209]]
100 Lk L4 100
| 295 | 2800 |
©) @ ©
3200
N SKU
0 e Nora D 320x320+VD 44 G0152
" | Drawing/Zeichnung Format
“ Wall/Wand B A4
1dNSd44c a an
£ Profile/Profil 4 4X13 5 Scale/MalRstab 150 Date 15 04 2023



AutoCAD SHX Text
Wall/Wand  B

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
008

AutoCAD SHX Text
011

AutoCAD SHX Text
013

AutoCAD SHX Text
014

AutoCAD SHX Text
018

AutoCAD SHX Text
019

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
021

AutoCAD SHX Text
024

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
026

AutoCAD SHX Text
027

AutoCAD SHX Text
027

AutoCAD SHX Text
027

AutoCAD SHX Text
027

AutoCAD SHX Text
027

AutoCAD SHX Text
027

AutoCAD SHX Text
027

AutoCAD SHX Text
027

AutoCAD SHX Text
028

AutoCAD SHX Text
028

AutoCAD SHX Text
KL4

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
ÜV3

AutoCAD SHX Text
ÜV3

AutoCAD SHX Text
ÜV3


Wall/Wand 1 T

e

2430

1890

Nora D 320x320+VD 44

SKU

o
Q

Drawing/Zeichnung

Wall/Wand 1

1N

%0

hansaZ

Format

15.04.2023



AutoCAD SHX Text
Wall/Wand  1

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
002

AutoCAD SHX Text
007

AutoCAD SHX Text
017

AutoCAD SHX Text
022

AutoCAD SHX Text
023

AutoCAD SHX Text
PR2

AutoCAD SHX Text
PR2

AutoCAD SHX Text
PR4

AutoCAD SHX Text
KL2

AutoCAD SHX Text
KL2


KL1+KL5S

001
006
006
006
006
006
006
006
006
006
006
006
006
006
006
006

2430

T T T T T T T T T T T T T T T
) ) A S D A R Y
S S B B R R

L i e s e e e e e |

Wall/Wand 2 T

A 2912 il

| 2956 |

3200

ame Nora D 320x320+VD 44 *“ 60152

()(:)

DO

h a n S a 2 < Drawing/Zeichnung Wa”/Wahd 2 Format A4

0

A Profile/Profil 44)(135 Scale/MaRstab 150 Date 15042023



AutoCAD SHX Text
Wall/Wand  2

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
001

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
016

AutoCAD SHX Text
022

AutoCAD SHX Text
023

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR4

AutoCAD SHX Text
AT1

AutoCAD SHX Text
AT1

AutoCAD SHX Text
KL1+KL3

AutoCAD SHX Text
KL1+KL5


KL1+KL5S

006
006
006
006
006
006
006
006
006
006
006
006
006
006
006

2430

T T T T T T T T T T T T T T T
) ) A S D A R Y
S S B B R R

L i e s e e e e e |

Wall/Wand 3 T o

A 2912 il

| 2956 |

3200

ame Nora D 320x320+VD 44 *“ 60152

()(:)

DO

h a n S a 2 < Drawing/Zeichnung Wa”/Wahd 3 Format A4

0

A Profile/Profil 44)(135 Scale/MaRstab 150 Date 15042023



AutoCAD SHX Text
Wall/Wand  3

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
001

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
016

AutoCAD SHX Text
022

AutoCAD SHX Text
023

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR3

AutoCAD SHX Text
AT1

AutoCAD SHX Text
AT1

AutoCAD SHX Text
KL1+KL3

AutoCAD SHX Text
KL1+KL5


